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Řešení – sada diagramů č. 22a 

Diagram 1) 1.Jg5+ hxg5 2.Dh5# 

Diagram 2) 1.Jg6+ hxg6 2.Dh3# 

Diagram 3) 1.Dxh7+ Kxh7 2.Sxf7# 

Diagram 4) 1.Df7+ Jxf7 2.Je6# 

Diagram 5) 1.Dc1+ Kf2 2.Dg1+ Kf3 3.Dg3# 

Diagram 6) 1.Dd3+ Ke6 2.Dd7#  

Diagram 7) 1.Sxf7+ Kxf7 (1…Kh8 2.Vxf8#) 2.De6#   

Diagram 8) 1.Dxf8+ Kxf8 2.Sc5+ Kg8 3.Ve8# 

Diagram 9) 1…Sxh2+ 2.Kh1 Sg3+ 3.Kg1 Dh2+ 4.Kf1 Dxf2#  

Diagram 10) 1…Df1+ 2.Kxf1 Sd3+ 3.Ke1 Vf1# 

 

Řešení – sada diagramů č. 22b 

Diagram 1) 1.Sxf7+ Kxf7 (1…Kh8 2.Vxf8#) 2.De6# 

Diagram 2) 1.Dd3+ Ke6 2.Dd7# 

Diagram 3) 1.Dc1+ Kf2 2.Dg1+ Kf3 3.Dg3# 

Diagram 4) 1.Sc8 a 2.Sa6+ ½    

Diagram 5) 1.Da7+ Kxa7 2.Vxc7+ Ka8 3.Jxb6# 

Diagram 6) 1…Sxh2+ 2.Kh1 Sg3+ 3.Kg1 Dh2+ 4.Kf1 Dxf2#   

Diagram 7) 1.h8V Kg7 2.Dh7# 

Diagram 8) 1.Ke1 Ke3 (1…c4 2.Dd2#; 1…d4 2.Db3#; 1…Kc4 2.Sf1#) 2.Dd2# 

Diagram 9) 1.Sb1 Kxb1 (1…b3 2.Dc1#; 1…Ka3 2.Da2#) 2.Dc2# 

Diagram 10) 1.Kg5 Jg4 (1…f2 2.Dg2#; 1…Jf1 2.Sxf1#) 2.Sxg4# 

 

Řešení – sada diagramů č. 22c 

Diagram 1) 1.b7# 

Diagram 2) 1.Sxf6# 

Diagram 3) 1.Vg8# 

Diagram 4) 1.Dg5# 

Diagram 5) 1.Jd6# 
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Diagram 6) 1…Vf4# 

Diagram 7) 1.Jxe6# 

Diagram 8) 1.Jb7# 

Diagram 9) 1.Jg5+ hxg5 2.Dh5# 

Diagram 10) 1.Df7+ Jxf7 2.Je6# 


